CITIZENSHIP TEST

1. Single citizenship is Sourced taken from which country?

a. USA b. Canada c. Britain d. Japan
ObFHwraled @meBs Guillend 6bd BT Y6l HbhaH 61(heSBILLL HI?
a. USA b. e C. LML Lot d. sgrumes

2. Double citizenship exists in
a. USA b. China c. Japan d. Australia
‘BrlemL @ulfleny’ sreorliLBL BHT(H
a. 9owfdsr b. der C. QlILITeH d. aewdGreduwim

3. Which is the main component of state that determines citizenship status.

a. Territory ~ b. Government c. Sovereignty  d. Population
SlpamHLmeISH6TeL o1& DFHlevieien  GldFeleT HGHwwl HiTewulSHG  (PphHalul
STyeniwng SHBILIUGHBHI?

a. Beoliuyiy b, oyFTmIsID c. @opwresiony d. 1&HHTESTMS

4. Who Defined Citizenship as “He who has the power to take part in the
deliberative or judicial administration of any state
a. Plato b. Aristotle c. Marshall d. Socrates
Glwflenwenwt  “ehHOeum(h MBS B BHiTamssHmsd oCeondlbsad LOBBID
9P LURGCHBHAD DIFHSTID © emLWeUT 61Tl 6UDTWIBISHSHEUT WITT?

a. Wenm G b. oyferdLm’iged C. rTelaged d. gndiyieed
5. Who is called first citizen of India?

a. President b. Prime Minister

c. Chief Minister d. Chief Justice of India

BHHWTANET (PHe0 QLSS  H(HSLILIBLIGUT WITT?

a. GQUITFHSHHMEOAUT b. ysior

C. (IpHEV DIMIDFFT d. @b Hmevenio B

6. Commonwealth citizenship provided by the citizenship Act (1955) was repealed
by
a. Citizenship (amendment) Act 2005  b. Citizenship (Amendment) Act 2003

c. Citizenship (Amendment) Act 2013  d. citizenship (Amendment) Act 2015
(BTOTO6U60S)  CuTgHId  Gwflewo 1955 ouewih  Guuiflennd FLL G S
CBETHSBLILLL FI. HDHOBTHHHIETEN 6hFH FLLSH HHHIHHH Ly DG HHSUIUL L HI?
a. euuflenwd s L Hmbs wWEFTHT 2005

b. gyufews FlLs Hmds WEFTHT 2003
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c. @uuflend FUL S HmeHs wWGFTHT 2013
d. syuiemws siLd Hmss weamsT 2015

ACQUISITION OF CITIZENSHIP

7. Which of following is competent to prescribe conditions for acquiring
citizenship in India?
a. Home minister of India b. Parliament
c. President d. state Legislature
AbhFHw Gulflenwenwt GuBIISBETET HLbHemarsenen UTbHimyss
SIS QepI?
a. OphIHUl 2 6THMB DIMFSFT b. unymemLoeTBLD
C. GIQUITHSHHENEOGUT d. omhlev &1L oedTBID

8. Which of following is not a condition for becoming citizen of India?

a. Birth b. Descent

c. Acquiring Property d. Naturalisation

QR OhHUS GYLBDTH DYAUSBE SLDSHHMIL UBBIGT 61H  DaUFUILOTETHE060?
a. LImLIL b. umybuMwib

C. Qamdha ambiGasng  d. eubgmeueiulenT, Geaumibmiiiged LIBHSHTEIID GLBEOTLD

9. To acquire citizenship by registration, a person must have been resident in India
for how many years immediately before making an application.
a. Two years b. Four years = c.sevenyears d. one years
ugdle OFuIHeL  cpeloms  Gwflews  OUBIISBEG, @ BUT  GlouflenndE,
alewIenILILNSGID (Pl eIHHemen  SLewihHeT  @bhHwmaled uFlHH  ubHH(HES
Gouewr(hd?
a. 2 SLeT(Hb6i b. 4 syemihEer c. 7 yemipset  d. 1 WG

10. Consider following statement and choose correct statement
Assertion (A) : When Pondicherry become a part of India in 1962, People living
there became Indian citizens
Reason (R) : It was done by one of the Provisions of Citizenship Act, 1955 by
incorporation of territory
a. Both (A) and (R) are correct and (R) is the correct explanation to (A).
b. Both (A) and (R) are correct but (R) is not the correct explanation to (A).
c. (A) is True, (R) is false
d. (A) is false, (R) is true.
spaumeusieuBsieln FflwmeaialemLemuld GHiTey GFUIwIe D
aBupl (A): 1962 60 uremtgdCafl, @bFHwmelsr @f SmswoTs Ser CUISH, DG
&HH6IT AbHUIS Gloujfleno CUBMETT.
smyewid (R): @m iCsab CameasliGOUTEH SIbWSSeT 1955 oL SuiBpriL L
FULSFHT lgliienl_uled @uyflento GumieuT

a. (A) wppd (R) sf Gweid (R), (A) &@ sflwrer elendsid
b. (A) wBpd (R) s guemsd (R), (A)deg gfwrer alendad Siedev
c. (A) sfl spemmed (R) seum
d. (A) seum spemed (R) &
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11. Consider the following statement
Assertion (A): Women who have been married to an Indian citizens can acquire
Indian citizenship by means of Registration.

Reason (R): Citizenship Act was enacted in the year 1956 by Indian Parliament.

a. Both (A) and (R) are true, (R) is the correct explanation of (A)

b. Both (A) and (R) are true, (R) is not the correct explanation of (A)

c. (A) is true, (R) is false

d. (A) is false, (R) is true

aBoI(A): @b GuLssmeTs Hmwewid QFUgH  OsTewiL  GuemseT L6
CFUIUSHET cpeuDTE @bHFHWdH Glpuflenenulll GILIBeOTLD.

srgenid  (R):  @bFHw  BILTEHLEBSHH0  1956-D  Suewih  Gpujflewod  FLb

BleBCaUMBMBLILIL L &

a. aBoI(A) wBpw smend (R) @rewih 2 avewwown@bd, sBBiBg (A) sryewid

(R) eretugy Filwimer allendaon@Lp.

b. saBmI(A) wBpd styewid (R) Syeui(d 2 avenown@hd, sEmBBing(A) smyewbd (R)

aatugl Fflwmer alendaLoe060

c. mpm (A) 2 eaiewwwngd smyewd (R) seumpm@Ld

d. &mm (A) seuprgb, smyeod (R) o _ewenwimgLh

Loss of Citizenship

12. Indian Citizenship of a person can be terminated if
1. A person voluntarily acquires the citizenship of some other country.
2. A person who has become a citizen through registration.
3. The Government of India is satisfied that citizenship was obtained by fraud.
4. A citizen by birth, indulges in trade with an enemy country during war.
a.1and 2 are correct b.1 and 3 are correct
c.1, 3, 4 are correct d. 1, 2, 3 are correct

Qb DHHWS GYHeneT GUflenlD BIDHHEHIL. 6IHOITEL (LPIYAHE aIHIBSH.

1. @meauT Gouml BT (s Gluwflewwenw Gumib CuTg)

2. uFley OFUILIOUSHET CLP6VLD

3. seupter Guorgy eufselled @mauT Guuyfleno CQUBDTT 6I@IBI DIFF  HIHSBID

Gurgl
4. Gumflesr Gumgl e BTLRLID BbHHul GHQHer euenllad GFuiuybd Gurg
a.1l wppd 2 s  b.1 wppd 3 & c.1,3,4 aM d.1,2,3 &f

NRI & PIO & OCI

13. Consider statement and choose correct option
Assertion (A): Pravasi Bharatiya Divas is celebrated on 9t January every year to
mark contribution of overseas, India community in development of India.
Reason (R): The day commemorates arrival of Mahatma Gandhi in India from
South Africa.
a. Both (A) and (R) are correct and (R) is the correct explanation to (A).
b. Both (A) and (R) are correct but (R) is not the correct explanation to (A)
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14.

15.

c. (A) is True, (R) is false

d. (A) is false, (R) is true.

gaBm (A) : QeuelBTG eumd @bHwiTseler, HTWI BTG euenTFHbsmer LnisefliemL
CumBmID elewTs, @abeuTm Syewibl eteull 9D  HI6T, GeualBTH
UMD @bhHwiTselar Helord DMIFTeESUILBGSBSI.

amyenid  (R):  ohg  mren, wasrHon &Mhd 0 Oper opiiflearaledmbal

QhFHWUTAbHHMSH Henaie] FBId alFHOTs 2 6iTeNngl

a. (A) wppd (R) sf Gwed (R), (A) &@ sflwrer alendsid

b. (A) wspw (R) sfl spemed (R), (A)dg aflwner alenssd £i6060

c. (A) M aemmed (R) seum

d. (A) seoup syemmed (R) &

Consider statement and choose correct one

1. OCI cardholder has voting rights in India

2. OCI cardholder can buy any property including agriculture and plantation.
a. 1 only b.1 and 2 only c. 2 only d. None of above
Levteu(heuenmmien Fflwmenr SHseuensv BGHiTey GFUILIG D

1. OCI - 9l 2 elenalTseEndhd, @bhHuraled arsgfend o 6wi[h

2. OCI - gpgdunaled CaHTLL RIS, aleDenblevld WBBID CFTHHIHHET GUTRIBEVTD
a. 1 B b. 1 oBmib 2 C. 2 L (Bd d. gaiafievenev

Consider the following statements.

It is an immigration status permitting a foreign citizen of Indian origin to live
and work in the Republic of India indefinitely. This statement is attributed to
which type of citizenship?

a. Overseas Citizen of India Card Holder (OCI)

b. Person of Indian Origin (PIO)

c. Non-Resident Indian (NRI)

d. None of the above

LevT6M(HeaUGToUBEN®  H616 BB LD.

@bHw  eubgmeueienws  CFibd @  OeuelBTL(hd  GWHeT  AbhAHwmalsd
SrevaueJwenmuilers eumpab Geauensv GFUILIOD DIIDHEGD GGBMB Henev. @G
bd aumd Guflenod@ UTHHBILD.

a. @bFHuw Sl Wmem LW ISR HEHGD Oeualpm B Glgwser (OCI).

b. @bHw eubsmaeiewws aripseut (PIO).

c. Glhwfenn Beveors @bgHwiT. (NRI).

d. GuBEemi_  eIgieLls0m60




